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Find the coordinates of the points
where the graph 57x - 19y = 399 cuts

the coordinate axes.

9 figell @ fAdwie s & o&l I%

57x —19y = 399 QY& 3E & Hrear

g

(a) x-axis at (-7, 0) and y-axis at
(0,-21)

(b) x-axis at (-7, 0) and y-axis at (O,
21)

\)t) x-axis at (7,0) and y-axis at (0, -

21)

(d) x-axis at (7,0) and y-axis at (O,
21)
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There are three taps of diameter 2
cm, 3 cm and 4 cm, respectively.
The ratio of the water flowing
through them is equal to the ratio of
the square of their diameters. The
biggest tap can fill an empty tank
alone in 81 min. if all the taps are
opened simultaneously, then how
long will the tank take (in min) to be
filled?

HA: 2 9, 3 9 3R 4 9 AN 9
W T €| STH 981 dlel I BT T
9P AN P I @ YU P WK B
e §91 7 bl U Glell el DI 81
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A glass jar contains 6 white, 8 black,
4 red and 3 blue marbles. If a single
marble is chosen at random from the
jar, what is the probability that it is
black or blue?

TP $id P WK A 6 TPG, 8 Plcl, 4 AT
AR 3 el TR §| AR R F ¥ g
8% ®U | & GHOR g1 orr 8, @
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The table given below shows the
record of the number of students
who got selected in the entrance
exam of M.Phil. in a particular
central university from five different
states of India over the years. Study
the table and answer the question.

A € 78 aifeier M.Phil. 97 WA G9ET
¥ Tfaa BE & 9= &1 Rere R
g el 35 asf § wRd @ U=
IAT—IT T W TP faOly g9
feafderea # | arferdr &1 segas & 3R
W9 BT SR ¢ |

38 The number of students who got
selected in 2020 from Bihar was
approximately what percentage of

, 6 l the total number of students who got
selected from Delhi for all the years

together?
QO‘/-T\ 2020 ¥ RER ¥ TafiT B9 T BT @
. w&r g4t asf ¥ ficeh ¥ wafa 8F ara
(a) 15.0% HOADE oo¥ =Y ws wear w1 wICT T
LLie) 23.6% (d) 15.5% gfyera of?



Find the roots of

6_ 2 - | 0.
X x-1 x-2

== 3 =0 $T qd F1d PIY |

X x—l—x—2

3@9 -6+3 (a) 4/5 and 3
Ay P Xb) 4/3 and 3/2

Xc) 4/5 and 3/2
\/111’4/3 and 3 @
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The parallel sides of a trapezium and
its height are in an arithmetic
progression with a common
difference of 4. If the height is the
highest term and the area of the
trapezium is 160 sq. units, find the
ratio of length of greatest parallel
side to that of the smallest parallel
side.

U$ GH6id I GAMIGR ol AR SHDI
$A% 4 @ UM HWR B WM
Fpforig wfa § g1 If Fug SwEaw
U 8 3R 9Hoid BT &FBT 160 T IHIS
g, O HaH T97 GAMIAY qoll B ddg Bl
UG, WEY B FHMIGR Holl B aTg
&I AT FAT BIM?

(a) 5:1 (b)1:5

(c)2:3 \9’3:2



Find the median class of:

aﬂaﬁmmaﬁm:

MIMMM

|2 >
(a) 100-150 v (b) 150-200

()0-50 | ($50-100

%w



Ifx+y,z2>0,and (x +2)2: (y + 2)2 ::

X .y, then find a, where a > 0, such
thatx:a\:i,a:y.

ﬂﬁx#fz{o@'\’(xukz)?:(y’rz)?::
x :y, @ a T PIY, el a > 0, 39

Wx:a::a:y%l
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The volume (in cm3) of a right
circular cone, whose slant height is
28 cm and radius of base is 21 cm, is

. (Take n = 22/7)

TS a9 qON Gg b1 e (@R )
fre 8, foraa forle Sarg 28 ¥t @ik
JER B o 21 9 87 (= 22/7
ofiforg)

(a) 38808 Wgﬁ_ @

(c) 30808 (d) 16177

ﬁE«
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Study the graph and answer the

question that follows.

The following bar graph shows the
number of students passed in class
XII board exam from six different
institutions.
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Institutions

Students passed from institutions U,
T, P and Q together is how much
more than that of institutes S and R
together?



Aol &1 AETYT HIforg AR - fag 79
U9 BT IR SIfoTT |

frefeiRad IR % BT A3
TRIFl 9§ qR8d] HeT I s geEr o
SOl BET P G&T DY <I0TaT B |

€Il U, T, P 3R Q ¥ SVl §¢ B
D HA G, RN S 3R R | ST
8¢ BEI B §d G ¥ fha e 87
(a) 225 (b) 234

\tc] 235 (d) 265



A shopkeeper allows 18% discount
on the marked price of an article and

still makbe}a_prﬁggf 23%. If he gain
Rs. 1,840 on the sale of the article,
then what istThe-marked price of the
article?

Udh GHFGR Uh a%g D 3ifbd o W
18% @ BC Tl 3 AR R M 23% I

o ARl &var B A} 98 I B fapa
W 1,840 SYY o™ IAfold Hvar g,

aw] & Sifbd Heg T 87
(a) Rs. 15,000
_AB) Rs. 12,000
(c) Rs. 9,840
(d) Rs. 10,000



If cotA + cosA = m and cotA - cosA =

n, then:

ﬂﬁ cotA + cosA = m Gﬁ'\' cotA - cosA
= n,

(a) (m?2-n?)2 =4 mn

(b) (m2 - n2)2 =16 mn

(c) m2-n2=16 mn @
(d) m2 + n2=4 mn

|
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A hollow cylinder of height h has
inner and outer radii of base given as
r and R, respectively. The ratio of
the curved surface area to the total
surface area of this cylinder is:

$a1E h T TP @Gel 911 P TR DI
AaR® iR 918 A FAT r IRR @
WA QTR L FH GO D G O
EAP BT o TON &A%d ¥ U &

(A h:(R=-r-h)

() R+r-h):h
L/Aﬂh:m+R-ﬂ ‘i; )

(d)(R-r-h):r



Two trains start at the same time
from A and B and proceed towards
each other at speeds of 85 km per
hour and 105 km per hour,
respectively. When they meet, it is
found that train from B has travelled
200 km more than the train from A.
The distance between A and B is:

) XAl A 3R B ¥ U & 99 W
7o B § R e 85 fd ufy wR
3R 105 f&dt Oftr & @ 77 & B TR
! AR gl 8| 99 9 Ao € o war



Johnny borrows Rs. 7,000 from a
bank at simple interest. After 3 years
he pays Rs. 4,000 to the bank, this
amount being entirely adjusted as

repayment of part of the principal
borrowed. At the end of S years from
the date of borrowing he pays Rs.
4,350 to the bank to settle the

account. Find the rate of interest.

GiFl U 4P 9 HERY &9 UY 7,000
IUY SHUR ol 8] 3 981 D 9I¢ 98 9
® 4,000 ¥UY BT YIAOH BT 8, §9
wﬁrﬁ?mﬁwmw

o e @ gaaE @& w9 H

P ST 2| SUR A I TG 9 5 a9
P 3T H 98 Wra B JafRa s @ fog
§% @ 4,350 A BT YIAE BT 8 |

TS X ST HIfOTY |
(a) 6% (b) 4%

T 5% (d) 7%



The roots of 22x - 10 x 2x + 16 = 0
are:

22x- 10 x 2% + 16 = 0 FT d &:

i1, 3 (b) 1,8

(c) 2, 8 (d) 2, 3 @
&\\QMJ_\‘LQ"‘
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The sum of double of the largest two-
digit prime number and triple of the
largest three- digit prime number is
equal to

a’taﬁaﬁmwmmrﬁ

A R A9 P B HEH T I
v @ foE &1 W ——— @
e BT B

3185 (b) 3029 &
(c) 2195 (d) 6523 X

® %



A starts from X at 9:00 a.m. and
reaches Y at 1:00 p.m. on the same
day, B also starts from Y at 9:00 a.m.
and reaches X at 3 p.m. on the same
day, following the same route as A.
At what time do the two meet?

A G498 9:00 91 X ¥ IS 8l 7 3R
z‘lval:ooa@wwu'gm%lwm.
B I 98 9:00 T Y gl B 3R
QY 3 g9 X W UgadT 5| 99 fF, A
P M AR P IFERO FXA §Y, QM
foe g Mo 87

11:24 hrs (b) 11:12 hrs

T e

(c) 10:00 hrs (d) 11:30 hrs

®
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The average of thirteen consecutive
integers is 36. If two times the
smallest of these 13 integers is

added to the largest of these 13
integers, what will be the sum
obtained?

IRE AR Qiel &1 3k 36 21 AR
9 13 ISl % ¥ a9 BIC QUi T
QT §F 13 iRl H ¥ qeW 79 H
ST 1Y, o T AT T g

(b) 110

(c) 115 @ (d) 121



For what value of m will the system
of equations 17x + my + 102 =0 and
23x + 299y + 138 = 0 have infinite

nu}ﬁ% of solutions?
; m ® 59 99 & forv SN 31 Jored
17x + my + 102 = 0 3R 23x + 299y +

138 = 0 ¥ 3d & 27

\q.)(lb )4’221 (b) 223

(c) 220 (d) 219

o 7Y VRN
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ABC is an isosceles right angle
triangle. Angle ABC = 90 degree and
AB = 12 cm. What is the ratio of the
radius of the circle inscribed in it to
the radius of the circle
circumscribing triangle ABC?

ABC U&% HHfgarg w¥aIvr Byt 81 ST
ABC = 90 f&f 3R AB = 12 & oA
difda g @ Bar &1 Bs ABC &
R g9 & Brour | srura @ 87

(a) 6-+2:32
wa (©)

(c) 6-3V2:12

(d) 6-3J2:62



Ifx2+xy+x=18andy2+xy +y=
24, then the value of x + y is:

Aex2+xy+x=18 AR y2 +xy+y =
24,H1x+y$[ql=l%=

(a) =S or 6 (b) -6 or 7
‘(/WG or -7 (d) S or -6

(x#9) Py =Y 1
27‘ +Z=Y2L=0 @



If the simple interest on a certain
sum for 18 months at 5.5% per

annum exceeds the simple interest
on the same sum for 14 months at

6% per annum by Rs 62.50, then the
sum is:

gfe v fAfdaa affr ® 18 ¥ @ forw
5.5% ¥fd 9% @ T | WHRY TS, S9!
UM W 14 B B fov 6% ufar o &

W Y NG R W 9 62.50 I
s 8, ol &

(a) Rs. 7,000 WX
(c) Rs. 6,500 (d) Rs. 8,200



16x2 - 8x + 1 = 0, then what is the

16x° + 1

4x’ d

value of

16x2 - 8x + 1 =0, @

qH 7 87
(a) 7 /(vb‘) 5
(c) 4 (d) 6

CYRY Qs




A cuboidal room is of length 15 m,
breadth 17 m, and height 21 m. Find

M )e‘ the cost of painting its walls and
'2 ceiling at the rate of Rs. 40/m?2,

U$ YIOR R 3 ddlg 15 HeX, Aol
(Q(R)XQI -+ I‘iﬂl“{)x‘(oﬂ fiex 3R FUi 21 deR 2| TR 9

W ¥ TG AR R BT B YT I
P! AN 40/ m2 3T DT
Mo + XMy e Ms. 63,960 (b) Rs. 58,912
G0 + — 00 (c) Rs. 44,250 (d) Rs. 85,126

watgo @



The ratio of the present ages of a
man and his wife is 7 : 6. After 6
years, this ratio will be 8 : 7. If, at
the time of marriage, the ratio of
their ages was 4 : 3, then how many
years ago from now did they get
married?

TS oY 3R IHO Tl B JAHE A
PT I 7 : 6 8| 6 T4 qQ TG U
8 : 7 8 WM | I} faa® & Wy Sl
3R] BT U 4 : 3 o, A S ¥ fbeq
el Ugal S9! wTal g 17

(a) 15 years (b) 13 years

MS years (d) 16 years

©
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If mean of the data 11, 17, x + 1, 3x,
19, 2x -4, x + 5 is 21, then find the
mode of the data.

af§ $e1 11, 17, x + 1, 3x, 19, 2x - 4,
x + 5 @ &G 21 § M ST I GGoIo
g |

() 15 Jm/w

(c) 11 (d) 17
MOM

6



The coefficient of x*® in the
expansion of (3x - 2y)? (x2 + y3)? is:

x"y3$ﬁﬁ1'\’ﬁ(3x-2y)2 (%2 + y3)2 @I
T &

(a) 18 (b) 15

(c) 12 (d) 14

®



Which of the following is equal to.

tan0 + secO—l],’
tan0-secO+1|

=1 & 9 foad TN 2

dﬁ&w“ [tane+sece 1 é‘f

'31!?)” tan0-secO+1
+sin9 (b) 1+tan®
cosO cotO

1+cot6 1+ cos6
(d)

tan0O sin 0



PQR is an equilateral triangle and
the centroid of triangle PQR is point
A. If the side of the triangle is 12
cm, then what is the length of PA?

PQR & §¥a1g YW & 3R & PQR
P Do f9g A 8| I Bt @ gor 12
Wl 8, @ PA @ TS RT &7

\)df 4./3 cm (b) 8.3 cm
(c) 2\3cm (d) J3cm

®
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The base of a right prism is an
equilateral triangle whose side is 10

cm. If height of this prism is 1043
cm. Then what is the total surface
area of prism?

U GO IS @1 MR U6 §HeTg
Brier 8 forat qor 10 9 81 Ik 9

o7 & SaE 1043 94 8| @ OH @
Bl A8 &AGA fdha 87

(a) 125+/3 cm? MZS\E cm’
(c) 15043 cm? ‘9/350J§ cm?

©



What is the value of

7 1 7 11 7 11 (i
—— - t—+—+toeet + ?

2 6 15 12 35 156 575

(2

F(Z) 42U 21 rnrucrn, v .0,
| {( 2 3 6 15 12 35 156 3575
= S A T 87 (/

(a) 3917/355 Mls/azs 25

\ S
K13 XA Ann (c) 3714/345 (d) 3216/315 %"

/



If x* +y* +x’y* =21and

x’+y*-xy=7, Then what is the

1 1
| f ?
value o x2><;2

e x* +y* + x°y? = 213K

1 1
x2+y2—xy=7,ﬁ}f >+ — P HI 4]
L




When the price of a commodity
increased by 23%, a family reduced
its consumption in such a way that
the expenditure on it was only 5%
more. By what percentage has the
family reduced the consumption of
the commodity (correct to one
decimal place)?

od fH g I dHa 23% ¢ TG,
UH URAR 1 3T+ WIT 59 TR $H IR
N &5 S W AT Bad 5% IS B
T | URAR A 9% & @ud = wfcrera
FH R G 2 (QIFeT ® Uh WH TP

Tal)?
(a) 14.2% (b) 15.2%@

(c) 15.8% S 14.6%
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If 2x - 3 =7,x#0, then what is the

X
8x°+5x° -1 .',")\}
8x°-25x° -1 T

afe 2x-1=7,x¢o, ar
X

value of

6 3
i
Sx +5% ~1 o a7 ¥
8x" -25x" -1
39 19
— o R
(a) a7 (b) T

1 )
te) 5 L/d(g



The income of X is 42% more than
that of Y and the income of Z is 45%
less than the sum of the incomes of

X \1 -7 X and Y. By what per cent is the
income of Z less than the income of

( E ’00 W-\ X (correct to one decimal place)?

133) X 3 AT Y B qa H 42% 30T 7
~—— IRZPITXIARY & I D AT A
R9 45% B9 8| Z B I X P IT A
= foba wfoerd o9 & 98l & P quMeld
Y2 WIH)?
(a) 5.9% (b) 6.7% X

\_ef 6.3% @ (d) 5.6%



For what values of z will the
following equation have equal

roots?

z+4)x2+(z+1)x+1=0

z & &7 Al @ foy ffafad
TR & ol G BRI ?
(z+4)x2+(z+1)x+1=0

Xa) 2, -5 )((b) 2, -3

9 5, -3 (d) 4, 3



Find the value of

1- tan’0 - tan‘0
1+ tan’0 .

sin’0 - sin‘0 +1 .
1-sin’0
&I A/ STd DI |

A=) 2 (b) 1

sin’0 - sin‘0+1 "

1- sin’0

1-tan’0 - tan‘0
1+ tan’0

(c) O (d) -1
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™A A 1%@%@6{7&&@@
syl ¥ 9 fhaq usy @rell d%A 91t

qrEy 87
(a) 9
(c) 12

W Xb

@

(b) 8
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A tank is attached with 30 pipes,
some of these are filling pipes and
the rest are emptying pipes. Each
filling pipe can fill the tank
completely in 24 hours and each
emptying pipe can empty the tank
completely in 18 hours. When all
the pipes are opened together, it

takes 1—;— hours to fill the tank

completely. How many of the given
pipes are emptying pipes?

2 3R TS Wil A Tl ISy S
P 18 ©HS ¥ T TRE W Well N
2l T4 ursal B U AT



If a solid sphere of radius 10 cm is
melted into 8 spherical solid balls
of equal radius, then what will be
the surface area of each such ball?

[Use n = 22/7]

Ife 10 9N Brar It tE 9 Mot Y
fraamey 999 fBar aell 8 MAaeR

o el ¥ sga fwr g, @ @
AP g BT TG &% T BEN? (n

= 22/7)
. Wp\u\

(a) 319- cm? (R

a - cm W/‘W”

(b 314g cm” e
7 //

(c) 3352 cm?

(d) 324; cm’



Find the median of the given
frequency distribution.

fU T IRERaT &1 AfegdT  §E

DI |
Class

10-20 | 20-30 | 30-40 | 40-50
Interval



What is the nature of the roots of
J3x?+6x-3=07

J3x* +6x-3=0 B Yol I WPl
T 87
(a) The roots are real and equal.

(b) The rotos are real and more
than 2

(c) There are no real roots.

B =l1‘q >b Mhe roots are real and di?\inct.
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\_[»/ $30.8 million
(b) $20.5 million

,32’ [97- (c) $50 million

(d) $45.5 million

The given circle graph shows the
annual spending of country ‘ABC’
on various sectors during a
particular year (in the form of

central angle). Study the circle
graph and answer the question.

fear 1 99 % e fa9y a¥ & dRME
fafr=1 &3 .} <1 ‘ABC’ @ aifte @9
DI T 3 (PLT DIUT & ®©Y H) | g
UTH BT JEIGT PY AR AT BT SN
:

If the amount spent on industry
and transportation during a year
was $10 million, then what was the
total approximate amount spent

on all the various sectors by the
country in that year?

I Tp 9f & SR ST AR yRasH
W Gg 9 T3 ¥ $10 fAferas <, @
99 99 39 g1 9 faf= &= ) @d

@ g Hol AT iR F4r Af?
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Ramu used to spend 72% of his
income. His income is increased by
12% and he increases |his

expenditure by 5%. If Ramu earlier
saved Rs. y and after the increases
he now saves Rs. x, then what is

XY x100|%?

y
M 3UAT AT BT 72% @Y ST AT|
ISP A 12% §¢ Wl & 3R SHPT
g 5% §¢ offal 3| If W A UB y
$9Y §91Y 3R T @ 91% 39 98 x

Uy g9 &1 [x;yxlooJ% Ca|

the value of

a1 T 8?
EY 22% (b) 25%
(€)27%  Id¥30%



If the area of the triangle whose
vertices are (3, -2), (2, -3) and
(p, -4) is 8 square units, then find
the value of p.

%‘za%ﬁg:rmmm saﬁm's‘aﬂg
¢ (3’ -2)9 (2’ —3)
h n Ky (p, -4) &, T p PT A FId DI |

@)-15 17
3 2 P (c) -16 CIRE @

1| T
RT3 _ L \ xfsp—«(’m\ 18
S i

f-’*l')“
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The distance between the lines
S5x + 12y = 13 and 10x + 24y = 52
is:

’«a'raﬁa%éhaﬁ§€15x+ 12y = 13
3R 10x + 24y = 52 &

\/4{ 1 (b) 12

BE (d) -1

S5y 'szz (%



If »P; = 1680 and »C: = 70, then
values of n and r are:

Y] " afE =P, = 1680 3R =C, = 70,
P:?\." C’l n 3R r & 4 &:
(an=4,r=4 ')\/
JEYE = | X3 (b)n=8,r=4
(c)n=3,r=2
X'""‘D\t‘ (d)n=5r=3

‘ ‘10‘?3"
‘&< Quen



In a series of observations,
standard deviation is 10 and mean

is 50. The coefficient of variance is
Y D TP HE H, AND fdge
10 8 3R 717 50 2 | fa=e™ &1 i
g

(a) 30 Lby20

(c) 50 (d) 40

©




